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Mentor Guru
Class 1 Maths Magic

Chapter 3: Addition Exercise QA

Question 1.
How many altogether?
Answer.

1 cow isequaltc 3 cows

2 children is equal to 5 children

2/Birds = 6 Birds

?,— Birds and



Question 2.
How many altogether?
Answer.

| ST
(d ‘

Question 3.
How many altogether?
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Question 1.
Add the following:



Answer.

(a) 4+2 =6
(o) 5+1 =6
(e) 3+6 =[9]
@ 7+0 =[T7]
(4) 0+9 =[9]
Question 2.

Add the following:
Answer.
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Question 3.
Add the following :
Answer.

d, YA
YV

Add and match the following :

~ |



Answer.

Question 5.
Add the following :
Answer.

(a) 2+ 7
(c) 3+5
(e) 4+ 0

(g) 2+ 2

(b)

(d

(g)




Question 6.
Add the following :

Answer.
(a) 3 (b)
6
9
(d) 0 (e)
+ 8
8
(9) 2 (h)
+ 3
S
Question 7.

Write the missing numerals.
Answer.

@ [3]+[2] = 5
© 4] +[ 3] =7
e | 2| +[2]| = 4
9 4| +|4]| = 8

(b)
(d)

(f)
(h)

(9

(f)

(1)




